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!"#$%&'()*+,-./0
1234567

１　89

!"#$%&'()*+,-./0123456789:;<#。
!"#=(>?@+、AB+、CD+、EF+、GH+、IC@+、J@+、KL+、MN+O'()

*+,-./012346%。

２　:;

PQ,-./01R78ST2UVWXYZ[，\]&XYNP^_,56`aXb2Z[，(
7846c6%78de，78deRPQ,2-./01fghi。jk78delmNnop`
qrstPQ,-./01fg，uv%Ww%。

３　<=>?@

xyz$%{，!"#|(P}~��<�，P�(��ＧＢ／Ｔ６６８２$%2���。

３．１　<=>?@

３．１．１　��（ＣＨ３ＯＨ）。

３．１．２　����（ＣＨ２Ｃｌ２）。

３．１．３　�+�：��６０℃～９０℃。

３．１．４　��m�（ＮａＯＨ）。

３．１．５　���（Ｈ２ＳＯ４）。

３．１．６　ｐＨP^：１～１４。

３．２　ABCD

３．２．１　���（１＋９）��：g�１０ｍＬ��（３．１．１），���９０ｍＬ�,，���(。

３．２．２　��m���（０．５ｍｏｌ／Ｌ）：��２０．０ｇ��m�（３．１．４），��８００ｍＬ���， ¡¢£¤¥，
(�%¦£１０００ｍＬ。

３．２．３　��（１＋１４）��：g�１０ｍＬ���（３．１．５），§¨���１４０ｍＬ�,，���(。

３．３　EF$G

-./01（Ｃ１８Ｈ２７ＮＯ３，ＣＡＳ©：４０４８６４）：�e≥９８％，ª«¬­®¯°±²S³*´¯µ2S
³*´。

３．４　HIABCD

３．４．１　S³¶��（０．１ｍｇ／ｍＬ）：³·��１０ｍｇ（̧ ·£０．１ｍｇ）-./01S³¹（３．３），(��
（３．１．１）�º，»]¼´g�e�０．１ｍｇ／ｍＬS³¶��。－２０℃½¾，z¿À３ÁÂ。
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３．４．２　S³ÃÄ��（０．１μｇ／ｍＬ）：³·Å�１００μＬS³¶��（３．４．１）>１００ｍＬ¦gÆ,，(��
（３．１．１）%¦£１００ｍＬ，»]¼�e�０．１μｇ／ｍＬ2S³ÃÄ��。４℃½¾，z¿À１ÁÂ。

４　JK>LM

４．１　7846c：Ç6%9:P^_278de，°ÈÉ'()*+,-./0126%ZÊ。

４．２　ËÌ-Í：Îg�Ï�０．０１ｇN０．１ｍｇ。

４．３　ÐÑ�[Ò。

４．４　ÓÔÒ：（３７．０±１．０）℃。

４．５　ÕÖcª×ØÖÙc（Ú¥eÛ]）。

４．６　-./01789:;<P}Ü：78ÝÞ（f78ST2UVWXY）、P^_。ßàáâ、Ù
ã、ä8_åæ½¾。

４．７　Å�Ò：１０μＬ、１００μＬ、１ｍＬ。

４．８　çèé：≥４０００ｒ／ｍｉｎ。

５　NOPQ

êë¥e：１５℃～３０℃；hìíe：≤８０％。

６　R6ST

６．１　<UDM

¤¥_åæ，�=gzîïWPQð���。

６．２　<UVW

³·��PQ２ｇ（̧ ·£０．０１ｇ），o>１５ｍＬñòçèó,，��２ｍＬ����（３．１．２），ô��

２ｍＬ０．５ｍｏｌ／Ｌ��m���（３．２．２），ÐÑ��２ｍｉｎ，４０００ｒ／ｍｉｎçè２ｍｉｎ，�a;�h１ｍＬ，(
����（３．２．３）MõｐＨ £５～６（ö０．１５ｍＬ～０．２５ｍＬ），.÷��２ｍＬ�+�（３．１．３）ÐÑ��

１ｍｉｎ，�aø�１ｍＬo>ùúPón，ÕÖcª×ØÖÙc（４．５）６０℃Ö£ûÙ，��１５０μＬ１０％�
��（３．２．１）ü�，ý� 6�，�(。

６．３　0XST

þ�１００μＬaÿ 6�>78ÝÞ,，!þ£ÝÞ278ST"#$%�º，78ÝÞo>ÓÔ
Ò（４．４）３７℃ÓÔ５ｍｉｎ。&P^_'�78ÝÞ３７℃()５ｍｉｎ。*ÝÞ,�+P^_，x,P^_
æ-2Q¹.，(7846c（４．１）à２ｍｉｎn$¼56。

Y：/7846c56+0“1¿2”3É4，5�1¿56。

６．４　GZ<[

６．４．１　67PQ)84uv×9P�N�S´ÛP�。

６．４．２　×9P�：:��PQ，;<６．２N６．３RPQ8#=Ä。

６．４．３　�S´ÛP�：³·��PQ２ｇ（̧ ·£０．０１ｇ），o>１５ｍＬñòçèó,，��８μＬ2S³
ÃÄ��（０．１μｇ／ｍＬ）（３．４．２），>PQ,-./01�e�０．４μｇ／ｋｇ，;<６．２N６．３RPQ8#
=Ä。
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７　\]^_

７．１　\]`a

PQ,-./01fg?7846cqrst°%Ww%，84Ç@+%gZÊ，fgAB�ÝC
6DC（μｇ／ｋｇ）。

７．２　GZ<[bc

×9P�6%ZÊ)�áW，�S´ÛP�6%ZÊ�EW。

７．３　\d

PQ,-./01fgF>０．４μｇ／ｋｇ，w�EW，)ìZÊuv·¯。

８　efgH

８．１　WGHSst"#;<IJＡKv。

８．２　5+L：０．４μｇ／ｋｇ。

８．３　MNe：≥９９％。

８．４　UVW：≥９０％。

８．５　OáWP：≤１％。

８．６　OEWP：≤１０％。

９　hi

!"#6%QRNZÊSÇTjkU­56P}2VWµuv，X)Y[ªZ>!"#$%2W
GHS。

!"#|ÿP}、P}Ü[\]=ÄQR^�&"_"#>(`，à>(!"#4:aL%。"#
>(`à>(bîP}、P}Üª=ÄQRc，)ìduvef，)gh!"#$%2ijWGHS4
"Ç>(。

!"#klS³�ＢＪＳ２０１８０１《'(+m,/0126%》。
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j　k　犃
（l8e）

Xem7efgH^_`

　　%W"#iÁWGHSstnïＡ．１。

`犃．１　Xem7efgH^_`

Q¹opａ

56ZÊｂ

EW áW
qr

EW 犖１１ 犖１２ 犖１．＝犖１１＋犖１２

áW 犖２１ 犖２２ 犖２．＝犖２１＋犖２２

qr 犖．１＝犖１１＋犖２１ 犖．２＝犖１２＋犖２２ 犖＝犖１．＋犖２．ª犖．１＋犖．２

ÈsWtV（χ２）
χ２＝（!犖１２－犖２１!－１）２／（犖１２＋犖２１），

q?e（犱犳）＝１

MNe（狆＋）／％ 狆＋＝犖１１／犖１．×１００

UVW（狆－）／％ 狆－＝犖２２／犖２．×１００

OáWP（狆犳－）／％ 狆犳－＝犖１２／犖１．×１００＝１００－MNe

OEWP（狆犳＋）／％ 狆犳＋＝犖２１／犖２．×１００＝１００－UVW

hì³·eｃ／％ （犖１１＋犖２２）／（犖１．＋犖２．）×１００

　　Y：犖 �uvU%Aw2ZÊr，xyÁæSHv，x�ÁæSHz。{|，犖１１ïÉxyv，xyz；犖１．ïÉ|

z2xyv；犖．２ïÉ|z2x�z；犖１２ïÉxyv，x�z。

　　
ａ Q¹,}~2���ZÊ。
ｂ ?-./0178;<56"#��2ZÊ。MNe2st>(·®÷2ZÊ。
ｃ �"#256ZÊhì³·W2ZÊ，Ry�W�<N�e56��op�[��。

!"#����AB：,¬�����+�Ä*��|。
!"#kR�¯AB：,¬5�5:�����、,¬'¹�¹5%���、¬­�'N*�¶�

������、,¬��'¹�[��,è、���'¹´g�%� 5����、¡¢£���*¯
¤%,è、¥¦§¨D*Ã�zL�©、¼ª£'¹�¹5����。

!"#«¬��­：®¯¥、°±、² 、³´µ、¶·、̧ ¹W、º»¼、½¾¿、Àu、ÁÂ、ºÃ、
®ÄÄ、ÅÆÇ、ÈÉ、ÊËÌ、ºÍ。
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